BHF v LY IEQ (BX)
3. TEEICET 3METT. B TREERDAEL

@ TOHEDFERZABCDE FIE. IE7\EETY, AXFEETIHS

A TFAER ORI
B F 180 ><(6-2)=ZZO ]
J.ZLABC=720° +-6=120
AB=BC7hd. =AFAB CH-ZSI=AIT.

£LBAC=4BCA
C E £oT. £x=(180° -120° )+2=30°
D &x_30°

@ TOHEOLSIC. EA=AFABCEIE=AFDE FA BAC&IIE

FAETICUTER>TWE T, ZXDBEZKDEETL,

A R C | BCEDFOZA%EG.BCLEFOREEHET S
E. LGHF=ZGCA=45° (. 3Ef)
/ X FIRIE=AHD E F OIBRT. £G FH=60°" 72h
5. NEOERICLD.

£Zx=£GHF+4£GFH=45° +60° =105°

E// F %2 105°

B
® ToOHEEF. E=AFABCETHI=AFDEF&EQLHDTY

(DE=DF)o LX DAEFEERDIBEL\,

ACEDEDREZG. ACEDFDR=ZEH. BC&
DFOXm%ZE ] &9d&.
ZEDF=180° -70° X2=40°
ZDGH=Z2AGE=105°
..2ZDHG=180° -40° -105° =35°
ZCHI1=£DHG=35°
=EFEONABDEEICKD.
Zx=£CHI1+2£1CH=35° +60° =95°
&2 95




